OSDAY Public School, Kaithal
PT3 Exam (November.,2024)
Class: X
Subject: Mathematics

Time: 1 hr 20 min.
General Instructions:-

L  All questions are compulsory.
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QNo.

Questions

Marks

Q1

The midpoint of the line segment joining the points(-2_8) and (-6_-4)

(@ (4-6) (b) (2.6) (0 42 (d) (4.2)

Q2

The median class of the following data 1s

Mark= Below 20 Below 40 Below 60 Below 80

Below 100

No. of 17 22 29 37

Students

50

(@) 2040 ®) 4060  (c)6080  (d) 80-100

Q3

The perimeter of a quadrant of a circle of radins 7/2 cm 1s:

(a) 6.5cm (b) 12.5cm (c) & 3em (d)45em

Q4

If the circumference of a cirele 15 ddem then the area of the cirele 12:

() 270cm?®  (b) 48cm? (©) 170cm? (d) 154cm?

Assertion: points A(3.2) B(-2.-3) and C({ 2.3 ) form a triangle

Feason - Sum of the two sides of a triangle 15 always greater than the third side

a) Both Assertion and Reason are true and reason 1s correct explanation for the assertion

b) Both Assertion and Reason are true but reason 1s not correct explanation for assertion.

) Assertion 15 correct but reason 1s false.

d) Assertion 1s false but reason 1s true.

Q6

Find the mode of the following frequency distribution.

Mariks 10-20 20-30 30-40 40-50

30-80

No.of students | 12 35 45 25

Q7

Find a relation between x and v such that pointp(x.vy) 1s equidistant from the points

A(1.4) and B(-12)




Q8

If (3.3) .(6,v) .(x.7) and (5,6) are the vertices of a parallelogram taken in order find x and
V.

Qo A chord of a cirele of radius 10cm subtends a right angle at the centre find the area of
1Hinor sector.
Q10 | The length of the minute hand of a clock 1s 14cm Find the area swept by minute hand in
30 minute.
Q11 | Achord AB of a circle of a radius 15 cm makes an angle of 60°at the centre of
the circle . Find (i) area of major sector (11) area of minor segment
Q1z Find the mean of the following data
Clazz interval 100-150 150200 200-250 250-300 300-350
Frequeticy 4 3 12 2 2
Q13 | Find the ratio in which the v -axis divides the line segment joining the points (5.-6) and
(-1.-4) Alse _find the coordinates of the point of division
Q14 | If the median of the distribution given below 1s 285 _find the value of x and y.
Class 0-10 10-20 20-30 3040 40-30 50-60 Total
mierval
Frequenc | 3 X 20 15 ¥ 3 60
¥
Q15 Show that A(1.-1),B(-2.-4) .C(-1.-1) and D{2 2) form a parallelogram




OSDAY Public School, Kaithal

P13 Exam (November,2024) SETB
Class: X :
Subject :Mathematics
Time: 1 hr 20 min. ML - 30
General Instructions:-
All questions are compulsory.
QNo. | Questions Marks
Q1 The mudpoint of the line segment joimng the points(3.-10) and (1.4) 1
(a) (4-6) (b} (2.3) ©) (2-3) (d) (2.-3)
Q2 The median class of the following data is 1
Class Below 140 | Below 145 | Below 150 | Below 155 | Below 160 | Below 165
Interval
Frequency | 4 11 29 40 48 51
(a) 140-145 (b) 145-150  (c)150-155 (d) 155-1600
Q3 If the radius of a circle 15 3.5cm then the penimeter of senu circle is 1
(a) 10cm (b) 15cm {c)18cm (d) 20em
Q4 Ifthe circumference of a circle 15 22cm _then the area of the circle 15: 1
(a) 38.5cm? (b) 48.5cm? (€} 170cm* (d) 154cmy®
Qs Assertion: The pomts (5.-2) (6.4) (7.-2)form an 1sosceles tnangle 1
Reason - The points (1.5) (2.3) and(-2.-11) are Collinear
a) Both Assertion and Feason are true and reason 1s correct explanation for the assertion
b) Both Assertion and Feason are true but reason 1s not correct explanation for assertion.
c) Aszertion 15 correct but reazon 15 falze,
d) Assertion 1s false but reason 15 true.
Q6 Find the mode of the following frequency distnbution. 2
Marks 30-40 40-50 50-60 60-70 J0-80 80-50
No.of 4 3 8 11 6 2
students
Q7 Find the value of x for which _the distance between the points P(x.4) and Q{9.10) 15 10 unts? Z
Q8 I(-2.1).(a.0) .(4.b) and (1.2) are the vertices of a parallelogram taken in order, find a and b. 2
Q39 Find the area of the quadrant of a circle of radms 21cm. Z
Q10 The length of the munute hand of a clock 15 3.5 cm. Find the area swept by nunute hand in 20 Z
minute.
Q11 A chord AB of a circle of a radius 14 cm makes an angle of 90%at the centre of the circle 3
Find (1) area of major sector (1) area of minor segment




Qiz Find the mean of the following data
Class 100-120 120-140 140-160 160-180 180-200
interval
Frequency 12 14 8 G 10
Q13 Find the ratio in which the x-axis divides the line segment joinng the points (3.-3)and (-2.7)
Also find the coordinates of the powmnt of division.
Q14 If the median of the distribution given below s 28.5 find the value of x and v.

Class 0-10 10-20 20-30 3040 40-30 30-60 Total
interval

Frequenc | > X 20 15 ¥ 3 ()

¥

Q15

Show that A(Z 4) B(-2.3) .C(-1.-1) and D(3.0) form a square
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